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QUESTION NO: 1

Which of the following does NOT describe Master data?

A. Transactional Data and Application-unique data

B. Key facts describing your core business entities: Employee, Products

C. Key facts describing your core business entities: Customers, Partners

D. None of the above.

Answer: A
Explanation:

QUESTION NO: 2

Which of the following parameters cannot be assigned to a step?

A. Script

B. Timeout values
C. Noatification

D. Catalog

Answer: D
Explanation:

QUESTION NO: 3

Where is the exported file stored?

A. External to PIM

B. Message topic

C. Document store

D. None of the above.

Answer: C
Explanation:

QUESTION NO: 4
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Which of the following is NOT a supported destination for export?

A. FTP server

B. HTTP post

C. Messaging topic
D. Email attachment

Answer: C
Explanation:

QUESTION NO: 5

Which of the following is a technique to simplify integration interfaces in PIM implementation?
A. Leverage ready to use PIM services.

B. Develop web services.

C. Leverage the enterprise integration layer.
D. Use batch loads.

Answer: C
Explanation:

QUESTION NO: 6

What is the difference between MDM Server and Data Warehouse?

A. MDM Server manages master data only plus, it is operational in nature.

B. MDM Server focuses on transactional data only, it does not manage dimensional data.

C. MDM Sever manages dimensional data.
D. Real-time data warehouse and MDM Sever are exactly same, both provide analytical function.

Answer: A
Explanation:

QUESTION NO: 7

Which statement(s) about Lookup Tables is/are TRUE?
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i)Uses a special type of spec: Lookup Table Spec, which is related to the Primary Spec.

i)Cannot be versioned manually.

ii)Do not have an attached security access control group (ACG).
iv)They use hierarchies.

A. Only iis true

B. Only iiis true

C. i, i, iii are true

D. i, ii, iii, iv are true

Answer: C
Explanation:

QUESTION NO: 8

Primary Spec Attributes are used to describe an entry which

A. can only be an Item

B. can only be a Category

C. can be an Item or a category
D. None of the Above.

Answer: A
Explanation:

QUESTION NO: 9

What is the main benefit of phased approach in PIM implementation?

A. Less development time
B. Clear scope

C. Limited risks

D. Small team

Answer: C
Explanation:
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